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( Mobile Telephones are not allowed in the classrooms

( Time allowed is 2 hours

( Attempt all questions

( Choose the nearest number to your answer

( For each question, put the code of the correct answer in the following table under the question number.

** Suppose that 25% of the people in a certain large population have low blood pressure. Three people are selected at random from this population. Use this information to answer questions 1-3 

  1. The probability that exactly 1 of the 3 people has low blood pressure is

     (A) 15/64             (B)  27/64                       (C)     12 /46               (D)   27/46

 2. The probability that 2 or more of the 3 people have low blood pressure is.    

     (A) 1/32                      (B)  1/23                  (C)    5/32                      (D)  7/ 23 

3. How many of the 3 people are expected to have low blood pressure

    (A) 4                       (B)   4/15                     (C) 3.0                 (D) 3/4
** Let  A, B and C be events  such that:
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. Use this information to answer questions 4-7
4. A and C  are

	
	(C) disjoint   
	(B) independent   
	(A) dependent 


5.  B and C  are

	
	(C) disjoint 
	(B) independent
	(A) dependent 


6. 
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	(D) 0.3
	(C) 0.5
	(B) 0.18
	(A) 0.2 
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	(D) 0.3
	(C) 0.18
	(B) 0.6
	(A) 0.02 


** Let A and B be independent events such that :
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 Use this information to answer questions 8-10
8. 
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	(D) 0.3
	(C) 0.48
	(B) 0.85
	(A) 0.42 
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	(D) 0.3
	(C) 0.18
	(B) 0.88
	(A) 0.85
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	(D) 0.3
	(C) 0.48
	(B) 0.65
	(A) 0.42 


**The following table is the probability distribution function of a discrete random variable 
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. Use the table to answer questions 11-14
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	k
	0.3
	0.3
	0.2
	0.1


11. The value of k is 

      (A)   2.0                       (B)0 .8                          (C) 0.1                         (D)0 .3

12.
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 is 

  (A) 1                             (B) 0.1                               (C) 1.2                               (D) 0.8

13. 
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    (A) 0.9                             (B) 0.3                         (C) 0.1                          (D) 0.7

14.The mean of X  ( E(X))  is :

     (A) 0.0                             (B) 0.7                           (C) 1                           (D) 2.6

**In a certain hospital, the mean number of children born per day is 6. The number of children born in a day in this hospital has the Poisson distribution. Use this information to answer questions 15-18.

15. The probability that 2 children are born in a day is 

   (A)   0.0249                       (B) 0.149      (C)       0.0446                         (D)0.249

16. The probability that no child is born in   a day is     

    (A)  0.0025                       (B)  0.25             (C) 0.28                            (D) 0.0028                                                                                                                                            

17. The probability that at least one child is born a day is? 

    (A)  0.0025                        (B) 0.75              (C)  0.9972                    (D) 0.9975  
18.The number of children expected to be born in 12 hours in the hospital is;

     (A)  2                            (B) 3                       (C) 1                                 (D) 6

** Let X be a continuous random variable for which P(X <3.5)=0.7, P(X<2.8)=0.4 and P(X>4.9)=0.1; Use the  information to answer questions 19-21.

19. P(X>3.5)

      (A) 0.3                            (B) 0.7                       (C) 0.2                            (D) 0.4

20. P(3.5 <X<4.9)

   (A) 0.1                            (B) 0.2                       (C) 0.7                            (D) 0.4

21. P(2.8 <X<3.5)

    (A) 0.3                            (B) 0.2                       (C) 0.7                            (D) 0.4

**Let Z be N (0, 1). Use this information to answer questions 22-26

22. P (Z<0) = 

    (A) 0

      (B) 0.45

       (C) 0.5 
   
         (D) 1

23. P (Z = 1.96) = 

    (A) 0.975 

        (B) 0                          (C) 0.5 

        (D)0.9

24.   
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     (A)1.5 

       (B) 1.325 

        (C) 1.285 
        (D) 1.645 

25.P (-1.23<Z<2.30) =

     (A) 0.88    
                   (B) 0.6895
       (C) 0.9788
         (D) 0.5678

26.P (
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Z

 2.35) =

     (A)0.0312
                   (B) 0.0012
       (C) 0.0143
        (D) 0.0094

** In a certain hospital, the ages of patients with the AIDS disease are normally distributed with mean 20 years and standard deviation 2 years. Let X (years) denote the age of an AIDS patient selected at random from the hospital 

Use the information to answer questions 27-30

27. P(X<20)=

      (A) 0.65

          (B) 0.54 

(C) 0.34
        (D) 0.5
28. P(X>25)=
      (A) 0.0010
                       (B) 0.0001 

([C) 0.1023              (D) 0.062
29. If the number of patients whose have the AIDS disease in this hospital is n = 

20, then the number of them who are less than or equal to18 years are:

       (A)6.5

             (B) 2.1 

(C) 3.174   

(D) 2.223

30 . The percentage of AIDS patients in the hospital who are between 19 and 22 years is.

      (A)65.32%  
            (B) 53.28%

(C) 40.123 %

(D)34.43%
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